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QUESTION 1

An administrator connects to View Administrator and sees that the dashboard health indicator is red for the 

View Connection Server instance. 

Clicking the red health indicator displays SSL Certificate: Invlaid 

What setting should the administrator review when troubleshooting this issue? 

A. Verify that the certificate has a friendly name of view. 

B. Verify that the certificate is imported into the Personal folder in the Microsoft Windows local computer certificate
store. 

C. Verify that the SSL service is running on the View Connection Server instance. 

D. Verify that the certificate is added to the certificate authority\\'s revocation list. 

Correct Answer: B 

 

QUESTION 2

The VMware Horizon administrator is unable to configure View Storage Accelerator on a vSphere 6 desktop virtual
machine. What could be the reason? 

A. The virtual machine is on a VSAN datastore. 

B. You cannot use View Storage Accelerator in a vSphere 5.5 or later environments. 

C. Global Policies has been edited and the Multimedia redirection (MMR) value has been set to Allow. 

D. The virtual machine is larger than 512GB. 

Correct Answer: D 

 

QUESTION 3

During instant clone desktop pool creation, the following error message is displayed: 

What can be done to correct this issue? 

A. Rebalance the instant clone pool. 

B. Disable and then enable provisioning. 

C. Change the number of desktops deployed within the instant clone pool. 
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D. Recompose the instant clone pool. 

Correct Answer: B 

 

QUESTION 4

A View environment includes a View Connection Server and View security server. The View Connection Server has the
following configuration: 

-DNSName: view.company.com 

-IP Address: 192.168.1.1 

The View security server has the following configuration: 

-DNS Name: view.company.com 

-IP Address: 192.168.1.1 

An administrator needs to set up View to allow external access for the users over Blast. 

Which option represents the format in which information must be entered into the Blast External URL field 

of the security server in View Administrator? 

A. https://security.company.com:443 

B. https://10.10.10.1:18443 

C. https://security.company.com:8443 

D. security.company.com:22443 

Correct Answer: C 

 

QUESTION 5

When are two Partially and Fully Enforced Settings applied within VMware User Environment Manager? (Choose two.) 

A. Partially Enforced Settings are applied after the user profile archive has been imported. 

B. Fully Enforced Settings are applied always and no user UEM configuration fire will be created. 

C. Partially Enforced Settings are applied after the UEM configuration file has been imported. 

D. Fully Enforced Settings are applied always and no user profile archive will be created. 

Correct Answer: AD 

 

QUESTION 6
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An administrator is attempting to configure a new linked-clone pool to use software 3D rendering and 

notices that the 3D Renderer option is unavailable. 

The pool settings are as follows: 

-Default display protocol is set to PCoIP. 

-Allow users to choose protocol is set to Yes. 

-

Max resolution of any one monitor is set to 1920 x 1200. 

-

Max number of monitors is set to 2. 

Which setting change should the administrator make to allow the 3D Renderer to be enabled? 

A. Change the Default display protocol setting to RDP. 

B. Change the Allow users to choose protocol setting to No. 

C. Change the Max resolution of any one monitor setting to 2560 x 1600. 

D. Change the Max number of monitors setting to 1. 

Correct Answer: B 

 

QUESTION 7

Which two pre-requisites should be met before installing the View Connection Server? (Choose two.) 

A. The Microsoft Windows system hosting the View Connection Server cannot host any other role. 

B. The host system must be a physical machine. 

C. Use a domain user account with administrator privileges on the View Connection Server. 

D. An SSL server certificate must be installed on the View Connection Server. 

Correct Answer: AC 

 

QUESTION 8

An administrator receives reports from users connected to View PCoIP sessions of slow desktop 

responsiveness and blurry images. Additionally, some users report being randomly disconnected from their 

sessions. 

The administrator determines the following: 
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-Network Latency is 100ms. 

-PCoIP Packet Loss is more than 5%. 

Which two solutions should the administrator implement to resolve the issues? (Choose two.) 

A. Increase priority of PCoIP traffic. 

B. Enable the Turn Off Build-to-Lossless GPO Setting. 

C. Disable Spanning Tree on the switches. 

D. Add additional vNICs to the virtual desktops. 

Correct Answer: AB 

 

QUESTION 9

What information must the Administrator enter when installing the App Volumes 2.x agent? 

A. The App Volumes Manager FQDN/IP address and administrator account information. 

B. The App Volumes Manager IP address and user account information. 

C. The App Volumes Manager FQDN and SQL DSN. 

D. The App Volumes Manager FQDN/IP address and port number. 

Correct Answer: D 

 

QUESTION 10

Refer to the Exhibit. An administrator has successfully deployed vCenter Operations for Horizon. The administrator logs
into the custom dashboard, finds a list of active users on the View Users tab, and clicks on one of them. 
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The Health tree widget does not update, as shown in the exhibit. 

What has been changed in vCenter Operations for Horizon configuration to result in the dashboard issue? 

A. Interaction between the Active User Sessions widget and the Health tree widget was removed. 

B. Reporting in the Health tree widget was changed from on to off. 

C. Interaction between the Metric Sparkline widget and the Health tree widget was removed. 

D. Reporting in the Active User Sessions widget was changed from on to off. 

Correct Answer: A 

 

QUESTION 11

Which three desktop pool attributes can be set only at the time of pool creation? (Choose three.) 

A. Max number of machines 

B. Type of virtual machine 

C. Pool ID 

D. Storage location 

E. Pool type 

Correct Answer: BCE 

 

QUESTION 12
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Which two procedures assign a Base Layer to centralized virtual desktops (CVDs) in VMware Mirage? (Choose two.) 

A. Click Validation button to validate CVDs. 

B. Choose Common Wizards > Assign Base Layer. 

C. Select individual, multiple or a collection of CVDs. 

D. Assign an App Layer. 

Correct Answer: BC 

 

QUESTION 13

When reviewing the VMware Horizon event database, an administrator notices the following error shortly after deploying
a new desktop pool: 

What are two probable causes for this error? (Choose two.) 

A. TCP port 4001 and TCP port 8009 are being blocked by firewall rules. 

B. Lookup failure on the virtual machine for the DNS name of the View Connection Server. 

C. Customization is disabled for this pool. 

D. TCP port 4172 and TCP port 32111 are being blocked by firewall rules. 

Correct Answer: AB 

 

QUESTION 14

An administrator is planning a new pool for a group of users. The pool requirements are: 

-User data must be portable between desktops. 

-User-installed applications must persist between sessions. 

-SE Sparse disk will be used to reclaim storage capacity. 

-Linked-clones will be used to conserve storage capacity. 

-Desktops will be refreshed on log off. 

The administrator plans to use View Composer persistent disks to support the requirements for this pool. Which
requirement will prevent the use of View Composer persistent disks? 

A. User data must be portable between desktops. 

B. User-installed applications must persist between sessions. 
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C. SE Sparse disk will be used to reclaim storage capacity. 

D. Linked-clones will be used to conserve storage capacity. 

Correct Answer: B 

 

QUESTION 15

Recomposing a desktop pool fails with the error message: 

Which command can be used to help troubleshoot this issue? 

A. ViewDbChk --scanMachines 

B. vdmadmin ? -r 

C. vdmadmin ? -resolve 

D. ViewDbChk --disableDesktop 

Correct Answer: A 
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